
Lawnmower | ROTAK 32 LI | 3 600 H85 D00 4

Illustration - Type - E

Subject to technical alterations. No liability is accepted for printing errors | 15 February 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Lawnmower | ROTAK 32 LI | 3 600 H85 D00 2

Spare parts list

Item Part Number Description Illustration

1/3 F 016 L66 662 Screw        M4X35        für Metall Deckel 1

32 F 016 L66 162 Screw         1

39/16 F 016 L66 895 Cable Clip        ROTAK II         1

39/17 F 016 L36 542 Screw        M5X8 CSK HD.         1

39/20 F 016 L67 530 Clamping Lever         1

40 F 016 L68 051 Mower deck        BLACK 1

40/2 F 016 L66 697 Comb        RED 1

43 F 016 L68 000 Motor Hood         1

43/3 F 016 L68 003 Key         1

43/4 F 016 L68 004 Release Lever         1

43/9 F 016 104 250 Switch         1

44 F 016 L68 075 grille        BLACK 1

45 F 016 L66 654 Carrying Handle         1

46 F 016 L68 006 Battery Cover         1

52/1 F 016 L68 031 Axle         1

52/2 F 016 L68 050 Lever         1

55 1 600 A02 5F8 Cutter Blade         1

58 F 016 L68 024 Adaptor plate         1

59 F 016 T48 547 Hex Screw        M8X20 MM         1

61/1 F 016 L68 029 Axle         1

61/2 F 016 L68 012 Lever         1

61/3 F 016 L68 027 Spring         1

75/10 F 016 104 213 Cable Guide         1

75/1 F 016 L90 608 Handle         1

75/14 F 016 T49 429 Self-Cutting Screw        4X19 MM         1

75/2 F 016 104 165 Connecting Cable         1

75/3/1 F 016 L67 218 Connector Housing         1

75/4/1 F 016 L67 150 Push-Button         1

75/4/2 F 016 L67 151 Button Spring         1

75/6 F 016 104 159 Housing Set         1

75/7 F 016 104 160 Switch Segment         1

75/8 F 016 104 163 Switch Kit         1

75/9 F 016 104 161 Sleeve         1

78 F 016 L66 682 Handle Bar        BLACK 1

79 F 016 L66 655 Handle Bar        BLACK 1

Subject to technical alterations. No liability is accepted for printing errors | 15 February
2025

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Lawnmower | ROTAK 32 LI | 3 600 H85 D00 3

Spare parts list

Item Part Number Description Illustration

80 F 016 L66 683 Collector Box Bottom         1

82 F 016 L66 686 Guard Flap         1

84 F 016 L66 685 Carrying Handle         1

85 F 016 L66 687 closing spring         1

90 F 016 L68 025 Linkage part         1

91 F 016 L68 007 Insert         1

92 F 016 L68 008 Insert         1

93 F 016 L68 009 Insert         1

94 F 016 L68 010 Insert         1

95 F 016 L68 011 Insert         1

96 F 016 L68 018 grille         1

97 F 016 L68 014 Clip         1

99 F 016 L68 034 Balance Weights         1

452 F 016 L68 022 Company Logo        ROTAK 32 LI         1

501 F 016 T40 590 Plain Washer        Ø8,15 MM         1

502 F 016 L68 015 Spacer        Ø8,15 MM         1

503 F 016 T48 990 Securing Cap        Ø8 MM        BLACK 1

650 1 607 A35 0PZ Battery Pack        GBA 36V 2,0AH H-B         1

651 2 607 226 273 Fast Charger         1

801 F 016 104 219 DC motor         1

802 F 016 104 596 Printed-Board Assembly         1

883 F 016 104 032 Collector Box Top         1

887 F 016 104 220 Wheel         1

Subject to technical alterations. No liability is accepted for printing errors | 15 February
2025

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com


